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QUESTION 1

What is the minimum number of servers an Event Stream cluster in IBM Cloud must be composed of?
A. One

B. Two servers

C. Four servers in load balance

D. Three servers

Correct Answer: D

QUESTION 2

In the context of the Key Protect service, which of the following statements is correct?
A. Key Protect allows you to manage keys as well as SSL/TLS Digital Certificates

B. Key Protect allows you to import keys for other Clouds

C. Key Protect allows you to manage service accounts

D. Key Protect allows you to create a new key or import your own key (BYOK)

Correct Answer: D

QUESTION 3

Which IBM Cloud database service provides transactional support?
A. Databases for PostgreSQL

B. Cloudant

C. Databases for MySQL

D. Databases for MongoDB

Correct Answer: C

QUESTION 4

A web application has been deployed in an IBM Virtual Private Cloud. In testing, it\\'s discovered that the web server is
not responding to requests over the Internet. What could be the problem?

A. The VPC load balancer hasnATMt been configured with the SSH key for the web server
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B. The subnet ACL has an ALLOW ALL inbound rule set at Priority 1 but a BLOCK ALL inbound rule set at Priority 2
C. The VPOTMs Vyatta Gateway does not have a NAT configuration for the web server group
D. The web server is in a Security Group which is missing a rule that allows inbound traffic on port 80

Correct Answer: D

QUESTION 5

Which service does IBM Cloud Pak for Data utilize to organize data through data classification and governance?
A. Watson Health Catalog Service

B. Watson Chat Catalog Service

C. Watson Data Catalog Service

D. Watson Knowledge Catalog Service

Correct Answer: D
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